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NEW QUESTION 1
You are using the Configuration Wizard to create a new domain that will consist of a cluster of a of three managed servers along with an instance of WebLogic
server acting as HIPT proxy to distribute traffic to the cluster.
Which three steps should you perform with the Configuration Wizard?

A. Create one Cluster.
B. Install Oracle HTTP Server.
C. Create one Coherence server.
D. Create four managed servers.
E. Assign three servers to a cluster.
F. Specify a proxy port tor the administration serve

Answer: ADE

NEW QUESTION 2
You are using WebLogic Server Diagnostic Framework (WLDF) Instrumentation in a system diagnostic module. The Dye Injection monitor is enabled. You know
the diagnostic context ID of the request you are Interested in that was processed by several. You are looking through the messages in the server
log file of several. Which statement is true?

A. You need to look at the Events Data Archiv
B. Server log files do not contain WL DF context IDs
C. You need to look at the Harvested Data Archiv
D. Server log files do not contain WL DF context IDs.
E. You need to look at the domain log fil
F. Only the domain log file contains WL DF context IDs.
G. You can search the server log file for the context I
H. Any message that was written to the log IDs during that request will contain the context ID.
I. You need to translate the context ID Into the corresponding transaction ID, which is the only ID in server log file entries.

Answer: A

NEW QUESTION 3
You are creating and configuring a cluster by using the administration console. Which two statements are true?

A. All servers that will be part of the cluster must be created before the cluster is created.
B. You must pick the cluster messaging mode.
C. Even though you create a non dynamic cluster, you can change it to a dynamic cluster later.
D. Once the cluster is created, you cannot change its messaging mode.
E. The administration console does not provide a way to manually migrate singleton service
F. It must be set up to be done automatically or by using WLST.

Answer: BC

NEW QUESTION 4
You are using the Administration console to monitor a resource.
Which three techniques can you use to customize the monitoring output?

A. Sort the rows by a specific column.
B. Limit the number of rows displayed.
C. Change the order of the displayed columns.
D. Views the rows from a specific time range.
E. Combine (add) multiple columns togethe

Answer: ABC

NEW QUESTION 5
Consider an existing nondynamic cluster that is currently hosting many libraries, applications, and data sources. You need to scale out this cluster to include a new
server. You provision the domain on new machines.
What are the two ways to create this new server in the domain configuration?

A. Use the Configuration Wizard to add a new server to the cluster.
B. Use pack and unpack to copy an existing server in the cluster.
C. Use the Administration Console to add a new network channel to the cluster.
D. Use the Administration Console to clone an existing server in the cluste

Answer: AD

NEW QUESTION 6
You use a web browser to log in to a application that is deployed to WebLogic server. When you click a link named “publish” on the site, an Access Denied”
message appears.
Which two statements are true about this server’s security configuration?

A. The application is not associated with any security roles.
B. A security realms is not configured in this domain.
C. Your user account has expired.
D. Your user account exists in an authentication provider.
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E. A security policy is attached to the “publish” link UR

Answer: DE

NEW QUESTION 7
Which two metrics are used to monitor and troubleshoot unicast communication in a cluster?

A. Groups
B. Master
C. Backup server
D. Session Replicas
E. Local Group Leader

Answer: AE

NEW QUESTION 8
The startup of a Weblogic Server instance fails with the error message: jav

A. a.net.BindExcepttion:Address already in useWhich two methods help identify what is currently listening at the port and the Ip this server is configured to be
bound to?
B. The pmap command lists all processes running with their associated port member.
C. The UNIX 1sof command can report information on the process that is listening at a particular IP and port.
D. netstat, which is available on Windows and Linux/UNIX, can report on the process bound to this IP and port.
E. Pstat will report detailed runtime statistics on any process currently listening at this IP and port.
F. The Linux port watching tool port info can raise an alert anytime a process attempt
G. succeeds, or fails to connect to a specific IP and por
H. It can also be used to identify if a port is being used by a java process.

Answer: BC

NEW QUESTION 9
You see a script called start WebLogic.sh(.cmd in Windows) in the root folder of your domain. What does this script do?

A. Starts a machine
B. Starts Node Manager
C. Starts a Managed server
D. Calls the startwebLogic.sh script in the domain’s bin directory
E. Calls the startManagedWebLogic.sh script in the domains bin directory

Answer: D

NEW QUESTION 10
Identify two reasons for defining machines and assigning servers to them in WebLogic servers.

A. A machine can be the proxy to a cluster.
B. A machine definition is required to configured figure the Node Manager.
C. To reference an instance of WebLogic Server, you must know its machine and port.
D. A machine is a required organizational uni
E. A domain contains machines and machines contain servers.
F. WebLogic Server users server machine assignments to help it choose servers in a cluster on which to replicate session state.
G. A machine’s Cluster Weight attribute may be used by load balancers to help them determine how often to send requests to servers assigned to that machine.

Answer: BE

NEW QUESTION 10
Which three statements about patching Web Logic server (WLS) by using Opatch are true?

A. Each patch comes with a “read me” file containing installation instructions.
B. You can use Opatch to see which patches are currently applied to WebLogic server.
C. Opatch is a GUI tool and requires the operating system to have a window manager.
D. Opatch requires a JDK to run.
E. After installing WLS, you download the Opath utility from Oracle support.
F. Each patch ZIP file comes with the Opatch utilit

Answer: ABD

NEW QUESTION 12
A WebLogic server domain contains a dynamic cluster called “cluster1”.The cluster “cluster”1 has two dynamic managed servers “server1” and “server2”. There
is a need to view the inherited attribute values for “server2”.
How do you view all attributes of “server2”.including those inherited from the server template?

A. Use WebLogic Administration console >”server2” link.
B. Use java weblogic.Deployer.
C. You cannot, because attribute values are not inherited.
D. Use WLST.

Answer: A

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 1Z0-133 Questions & Answers shared by Certleader
https://www.certleader.com/1Z0-133-dumps.html (126 Q&As)

NEW QUESTION 17
A web application is configured for in-memory replication and is deployed to a cluster. This cluster is distributed across two buildings on a university campus. For
performance reasons, you require that session replication occur within the building whenever possible.
How do you implement this requirement?

A. Disable the dynamic server list in the proxy plug –in.
B. Configure the cluster to use multicast communication.
C. Configure the application’s cookies parameters.
D. Configure each server’s replication grou

Answer: D

NEW QUESTION 22
During a performance test, a server’s log includes several out of memory error messages. You are using the Administration console.
How can you verify the amount of available heap in the server?

A. Click the server ‘s Debug > Heap tab.
B. Click the server’s Debug >Health tab.
C. Click the server’s Monitoring >Health tab.
D. Click the server’s Monitoring > Threads tab.
E. Click the server ‘s Monitoring >performance ta

Answer: E

NEW QUESTION 25
You create a new Work Manager to control how server threads are allocated to an application’s
increasing requests . You want to further configure the criteria of the Work manager by using a Request class.
Identify three valid Request classes that you can to a work manager.

A. Uniform Distribution Request class
B. Response Time request class
C. Max Throughput Request class
D. Fair share Request class
E. Context Request class

Answer: BDE

NEW QUESTION 30
Consider a domain with an existing JDBC data source, which connects to an Oracle database. Your database administrator requests that the JDBC connections to
this database now specify a different username.
Which data source attribute would you modify to implement this requirement?

A. Properties
B. Credentials
C. Username
D. Login
E. URL

Answer: A

NEW QUESTION 35
The Administration Server of a domain falls due to a hardware failure. The hardware is beyond repair. Before the failure you prepared a “backup admin server”.
You go through your planned recovery process and are successful. The Administration Server is now running on different hardware. The managed servers of the
domain automatically reconnect to the admin server.
Select the two statements that are true.

A. Files of deployed applications are available to the backup admin server from the same relative location as they were to the original admin server.
B. At the time of the failure ,the backup admin server was running in “Standby” mode on different hardware in the same network.
C. When the admin server failed, you must have shut down and restarted the managed servers, otherwise they could not have reconnected to the failed admin
server.
D. The backup admin server is any one of the running managed server
E. You select one of themanaged servers, stop it, set its “administration” flag, and restart it as the admin server of the domain.
F. The backup admin server must be running at the same DNS name or IP address as the origina

Answer: BE

NEW QUESTION 36
You use the Administration console to modify the domain’s security realm. After deleting the default authentication provider, you add a single authentication
provider for iplanet LDAP. You then try to reboot your servers with the weblogic user but they all fail to start due to authentication errors. Identify two possible
causes.

A. The weblogic user does not exist in iplanet.
B. The Administrators group does not exist in iplanet.
C. A domain must include the default authentication provider.
D. Iplanet is not a supported LDAP implementation.
E. LDAP providers cannot be included in the default security real
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Answer: AB

NEW QUESTION 41
You create a new Managed Server in your domain by using the administration console. You give it the listen address of 192.0.2.0 and the listen port of 7100.You
save and activate the changes.
You use the domain start script to start the new server. It fails, One of the messages in the window in which you can the script is:
Server failed to bind to any unable port.
You investigate and see that another process is running on 192.0.2.0 on port 7100.You also find many unused ports at that IP address.
Which two statements are true?

A. It is not an instance of WebLogic Server from this domain running at 192.0.2.0:7100.The administration console does not allow you to create a server at the
same listen address and port as one already configuration in the domain.
B. It is an instance of WebLogic Server running at 192.0.2.0:7100. Other processes do not interfere with WebLogic Server.
C. Changes the port number to an unused one to resolve this issue.
D. It cannot be the administration server running at 192.0.2.:7100, because admin servers run on port 7001.
E. Because this Managed Server has never been started, it does not have a local copy of the configuratio
F. If it did, by using Managed Server Independence, it would be able to switch to an unused port of it s configured port was busy.
G. The port number can stay 7100 if this machine has another IP address and the port is unused at that address.

Answer: CF

NEW QUESTION 46
You zipped up the domain’s config directory on the administration server’s machine before making some major configuration changes. You wait to activate after
all the changes have been saved. After your changes are in, hinges start failing badly. You want to go back to the old configuration.
What is the best course of action?

A. Undo the changes you made manually by using the administration console or WLST.
B. 1. Stop the administration serve
C. 2. Replace the config directory on the administration server’s machine with your backu
D. 3. Restart the administration server.4. Stop the managed servers on each machine.5. Replace the config directory on the machine with your backup.6. Restart
the managed servers on the machine.
E. 1. Stop the administration server.2. Extract only the config.xm1 file from the zip file.3. Overwrite config.xm1 on the administration server’s machine with this
extracted file.4. Restart the administration server.
F. 1. Stop the administration server.2. Replace the config directory on the administration server’s machine with your backup.3. Restart the administration server.

Answer: D

NEW QUESTION 51
You are troubleshooting why transactions are not being committed. After investigation, you realize that these transactions have enough time during the first phase
of the two –phase commit, but not enough time during the second phase. Therefore, rather than committing, they are timing out and are being rolled back.
Which Java Transaction API (JTA) attribute needs a larger value?

A. Timeout seconds
B. Abandon Timeout seconds
C. Before completion Iteration Limit
D. Checkpoint Interval seconds
E. Unregister Resource Grace period

Answer: B

NEW QUESTION 52
You are troubleshooting Java Transaction API (JTA) transactions.
The WebLogic Server extension to JTA provides which optional transaction attribute to make troubleshooting easier?

A. a name
B. an ID
C. the status of “marked for rollback”
D. a status

Answer: A

NEW QUESTION 54
Which WebLogic Server tool is used to create managed server templates?

A. unpack
B. Configuration Wizard
C. Administration Console
D. WebLogic Scripting Tool (WLST)
E. appc
F. pack

Answer: F

NEW QUESTION 55
You have an existing domain and need to add a new managed server to it.
Which three statements are true concerning the creation of managed servers? (Choose three.)
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A. A server must be assigned a machine
B. A server must be assigned a listen port
C. A server’s name cannot be changed after it is created
D. A server can be associated with a server template
E. Servers can have duplicate names as long as they have unique ports
F. A server must be assigned a listen address

Answer: ABF

NEW QUESTION 56
You access the Deployments page from the Administration Console. The targets and state of each application are displayed. One web application named web1 is
targeted to server1 and is in the NEW state.
Which statement is true?

A. web1 is available but has never been accessed
B. server1 is in standby mode
C. server1 is not running
D. web1 is in the process of being deployed to server1

Answer: D

NEW QUESTION 57
You are using the administration console to monitor transactions on a managed server. In the Summary subtab, under the JTA tab, you notice that the total count
of transactions does not equal the sum of the committed transactions and all of the various rolled back transaction categories. How do you explain this?

A. The total count field includes committed, rolled back, and heuristic completions
B. The total count field includes in-progress transactions, but the others only show completed transactions
C. The total count includes distributed and local transaction
D. The committed count and the various rolled back counts are for distributed transactions only
E. The total count includes all transactions since the server was starte
F. The other counts only include the transactions included in the latest transaction log

Answer: A

NEW QUESTION 59
You create a new dynamic cluster with the following parameters: Number of servers: 2
Listen port: 8101
Enable calculated listen ports: true
To which two port numbers will the resulting two dynamic servers bind? (Choose two.)

A. 8101
B. 8102
C. 8103
D. 8100
E. 8104

Answer: AD

NEW QUESTION 63
Which three domain requirements can you implement with the Configuration Wizard? (Choose three.)

A. Create a Node Manager and enroll it with the domain
B. Create a domain using a custom template
C. Assign virtual IP addresses to all servers
D. Distribute domain files across multiple machines
E. Create a dynamic cluster of five servers

Answer: ABD

NEW QUESTION 64
Identify two advantages of using a Single Client Access Name (SCAN) when configuring a GridLink data source. (Choose two.)

A. The Fast Connection Failover (FCF) pattern, which allows rapid failure detection, is enabled
B. The more sophisticated runtime connection load balancing (RLCB) is used; without SCAN, load balancing reverts to a simple round-robin scheme
C. SCAN is required for the GridLink data source to use an XA driver
D. The database URL is shorter because it contains one SCAN alias and port as opposed to a host and port foe each RAC node
E. The data source configuration does not need to be updated when new nodes are added to the RAC cluster

Answer: AE

NEW QUESTION 69
View the following file except, which configures HTTP session replication:
<session-descriptor>
<persistent-store-type>replicated</persistent-store-type>
</session-descriptor>
From which file is this except taken?
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A. weblogic-application.xml
B. session.xml
C. web.xml
D. config.xml
E. weblogic.xml

Answer: E

NEW QUESTION 73
Which three Administration Console tasks require you to obtain the configuration lock of a production mode domain? (Choose three.)

A. Stop an application deployment
B. Create a new JDBC data source
C. Change the servers listen port
D. Suspend a running server
E. Add a server to an existing cluster
F. Create a new administrative user

Answer: DEF

NEW QUESTION 77
You have been tasked with replacing an existing WebLogic domain with a brand new installation as part of a migration. The new server needs to use the
previously created JDBC store that holds existing JMS messages.
Which two configuration requirements do you need to comply with in order to make the transition successful? (Choose two.)

A. In Persistent Stores, create a new JDBC store and select the option “Use existing store”
B. The new domain name needs to be the same as the old domain it’s replacing
C. Duplicate the JMS and persistent store configuration in the new domain
D. The storage needs to be file based and not JDBC based
E. Set the prefix for the JDBC store table to the domain name

Answer: AE

NEW QUESTION 78
You start a managed server by running a start script at the command line. The server fails to start. To troubleshoot this failure, you look at the window in which the
script ran. One of the messages form the server says: “boot identity not valid”.
What do you do before running the script again?

A. Add the option to the start script that allows servers to be started without credentials
B. Update the credentials in the boot identity file
C. Update the credentials in the start script
D. Create a boot identity username and password by using the administration console
E. The boot identity file does not exis
F. Create on

Answer: B

NEW QUESTION 81
Consider a domain that includes a Node Manager home directory. One way to enroll each Node Manager with your domain is with the WLST command nmEnroll().
Select the two scenarios where you do not need to use this command to perform the same task? (Choose two.)

A. The Node Manager is on the machine where the domain was created by using the Configuration Wizard
B. You create a managed server template by using the pack utilit
C. Then create the domain by using the unpack utility on the new machine where Node Manager will run
D. Use the administration consol
E. Select the machine, then the Configuration and Node Manager tab
F. Select “Enroll with the Domain.” Save and activate your changes
G. Use the script enrollNodeManager.sh found under the WEBLOGIC_HONE directory in server/bin

Answer: AC

NEW QUESTION 86
The Configuration Wizard has a Node Manager option which, if selected, allows you to also configure a Node manager as you create your domain. Select two true
statements about using the
Configuration Wizard to configure Node Manager. (Choose two.)

A. You are required to enter the username and password for accessing Node Manager
B. You are allowed to choose the location of the Node Manager home
C. You can select either the Java-based or script-based Node Manager
D. After the Configuration Wizard creates the domain, it automatically starts the configured Node Manager

Answer: AD

NEW QUESTION 88
You are using the Embedded LDAP that is supplied by Oracle WebLogic Server. Which three statements are true? (Choose three.)

A. The Embedded LDAP can be accessed by an external LDAP viewer
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B. The Embedded LDAP cannot be used in a production environment
C. The Embedded LDAP uses the file system to store WebLogic security provider data
D. The Embedded LDAP uses the database to store WebLogic security provider data
E. The Embedded LDAP can be used to store user, group, security roles and security policies for the WebLogic security providers

Answer: ABC

NEW QUESTION 89
Consider a WebLogic Java EE application that uses a JDBC data source.
Which three steps would the application developer typically write code to perform? (Choose three.)

A. Test the connection to verify the database’s availability
B. Add a new connection to the data source if none are available
C. Close the connection to return the connection to the data source
D. Request a connection from the data source
E. Look up the data source using the JNDI name

Answer: ADE

NEW QUESTION 91
Which two statements are characteristics of the Reconfiguration Wizard? (Choose two.)

A. You can upgrade any domain that was created using WLS 9.2 and above
B. The Reconfiguration Wizard allows you to change the domain mode
C. The Reconfiguration Wizard allows you to select a different Java JDK
D. The Reconfiguration Wizard does not allow the reconfiguration of JDBC data sources
E. You can upgrade only a domain which is running WLS 10.3.x or later

Answer: DE

NEW QUESTION 94
While using the Configuration Wizard to create a new domain, you do not set the Listen Address for the administration server and accept the default value. What is
the result?

A. Server startup fails
B. The server binds to localhost
C. The server prompts for an address when it is started the first time
D. The server attempts to bind to all network interfaces on the host OS

Answer: B

NEW QUESTION 98
Identify three capabilities of the non-default LDAP authentication providers included in WebLogic Server. (Choose three.)

A. adding a user to a group
B. creating a new group
C. changing a user’s password
D. validating a user’s password
E. creating a new user
F. identifying the groups for a user

Answer: BDE

NEW QUESTION 103
You are using the Configuration Wizard to create a new domain that will host an EJB application without a cluster. Remote EJB clients can therefore take
advantage of WebLogic Server’s load balancing and failover capabilities.
However, a proxy server exists between the EJB clients and this new cluster.
Which cluster attribute should you modify in the Configuration Wizard to ensure that external EJB clients are routed correctly through the proxy?

A. Messaging Mode
B. Cluster Address
C. Broadcast Channel
D. Replication Channel
E. Cluster Type

Answer: B

NEW QUESTION 104
Which two statements are true when an Administration Server is compared to a Managed Server? (Choose two.)

A. An administration Server manages the domain configuration
B. A domain must have at least one of each type of server
C. An administration Server keeps a domain log, but a Managed Server does not
D. A Managed Server keeps a server log, but an Administration Server does not
E. Java EE applications are deployed only to a Managed Server

Answer: CD
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NEW QUESTION 105
You monitor a running JDBC data source with the console and note the following values:
Current Capacity = 10
Current Capacity High Count = 20
Identify two plausible explanations for these metrics. (Choose two.)

A. The workload was lower than it is now
B. The statement cache size is 20
C. The pool size has increased
D. The statement cache size is 10
E. The pool size has decreased
F. The workload was higher than it is now

Answer: EF

NEW QUESTION 109
......
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